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Ratio Proportion Indices and Logarithm



\V/

P, Q and R three cities. The ratio of average temperature between P and Q is 11: 12
and that between P and R is 9:8. The ratio between the average temperature Q and

FoB = it & [ = LR
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Wi

P, Q and R three cities. The ratio of average temperature between P and Q is 11: 12
and that between P and R is 9:8. The ratio between the average temperature Q and
R

A 22:27
B 27:22
32:33
d_

None of these



\V/

A number consists of two digits. The digits in tens place is 3 times the digit in the
unit's place. If 54 is subtracted from the digits are reversed. The number is

A 2§ (3=37 - 23 e
A % 2/3:=¢ v
& 3= sy

SY-=
e o+ 95 b 12'5%3%




Wi

A number consists of two digits. The digits in tens place is 3 times the digit in the
unit's place. If 54 is subtracted from the digits are reversed. The number is
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The ages of two persons are in the ratighteen years ago their ages were in
the ratio of 8 : 13, their present ages (in years) are :

\9/(07(0 So. 705" @—\% - <

——

X 70,50 70 :Sex:< $SS (’( K}" y S

056 45e_gn A SO R -3y _g¢

8 7 — ‘ .
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Wi

The ages of two persons are in the ratio 5 : 7. Eighteen years ago their ages were in
the ratio of 8 : 13, their present ages (in years) are :

5070

EA None of these



HUESTION (14

If x:y=3:4,thevalue of Xy + xy?: x3 + y3 is

iy =3y | gt - B0t o

X = 3K xs*f Beprhe™
YK
'=<qf ) +6 (6K
EA None of these A k>4 Gy




HUESTION (14

If x: y=3:4, the value of X%y + xy?: x3 + y3is

13: 12

12:13

21:31

None of these
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A box contains ﬁ76 coins])f 5 rupees, 2 rupees and 1 rupee. The value of each kind
of coins are in the ratio 2 : 3 : S respectively. The number of 2 rupees coin is

a s 4 b Vel Ne'%ﬁwf O YK I SE4SE=a7¢
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\V/

A box contains 276 coins of 5 rupees, 2 rupees and 1 rupee. The value of each kind
of coins are in the ratio 2 : 3 : 5 respectively. The number of 2 rupees coin is




HUESTION (6

5 e i Tl | -
[f four numbers =155z are proportional then x =




HUESTION (6

5 e i Tl | -
[f four numbers =155z are proportional then x =

6/5
5/6

15/2

None



HUESTION (7

What is the value of 22 if2 = 7
p—q ¢
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HUESTION (7

What is the value of 22 if2 = 7
p—q ¢

4/3
2/3

2/6

7/8



HUESTION (8

The mean proportional between 12x? and 27y?
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HUESTION (18

The mean proportional between 12x% and 27y?




HUESTION 3

Ifax=Db, bY =, c2= a, then xyz is

@
nz
&

EA None of these




HUESTION 3

[fax=Db, bY =, c*=a, then xyzis

LA None of these



HUESTION 10

¥

If (25)1°0 = (25x)°9; then the value of x will be




HUESTION 10

If (25)1°0 = (25x)°9; then the value of x will be
Qa s

a >

5
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If log = — (loga&b) then value of a? + b? is

|
@ Ly (at)= - daylo)
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HUESTION I

If loga;b — %(loga + logb), then value of a? + b? is

6ab

8ab

6atb?

S0 0

None of these
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The value of log, ,0.001 -
0.1 /{52 3(@20 l) LU ( . .
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HUESTION 12

The value of log, ,0.001 =




QUESTION 12 Q02 L 2K MO

Given that log,,2 = x and log,,3 =y, the value of log,,120 is expressed as

0 2-y+1 15(0 - ,(yg(;uzmm)

LRy i g2

2x-y-1 — \\\/

EA None of these




HUESTION 13

Given thatlog,,2 = x and log,,3 =y, the value of log,,120 is expressed as

2x-y+1
2x+y+1
2x-y-1

None of these
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HUESTION 14

If %log104 = y and %loglo‘) = X then the value of log,,15




HUESTION 13

log,(x? + x) -log,(x+ 1) = 2, find x




HUESTION 15

log,(x% + x) - log,(x + 1) = 2, find x

LA None of these
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Mathematics of Finance



UESTION 16 '
. . S V4

Sachin deposited Rs.1,00,000 in his bank for 2 years at simple interest of 6%. How
much interest would be he earns? How much final value of deposit

A Rs.6,000,Rs, 1,06,000

ST =P rxry! slooou K LREF = F 3000

I} Rs. 15,000, Rs. 1,15,000

Rs. 11,600, Rs. 1,11,600 A = P+5T- |0obbD FlasvD
- 2 (12000

I8 | Rs. 12,000, Rs. 1, 12,000‘)




\V/

Sachin deposited Rs.1,00,000 in his bank for 2 years at simple interest of 6%. How
much interest would be he earns? How much final value of deposit

A Rs.6,000,Rs, 1,06,000

I} Rs. 15,000, Rs. 1,15,000

Rs. 11,600, Rs. 1,11,600

A Rs.12,000,Rs. 1, 12,000



HUESTION {7

-

A sum of money, lent out at simple interest, doubles itself in 8 years. Find in how
many years will the sum become triple (three times) of itself at the same rate per
cent?




\V/

A sum of money, lent out at simple interest, doubles itself in 8 years. Find in how

many years will the sum become triple (three times) of itself at the same rate per
cent?

16 years
15 years

20 years

ERE 0

None



Wi

The simple interest on sum of money at 6% p.a for_7 years is equal to twice of
simple interest on another sum for 9 years at 5 % p.a. The ratio will be

5f, = 'D\<§IL 3




\V/

The simple interest on sum of money at 6% p.a for 7 years is equal to twice of
simple interest on another sum for 9 years at 5 p.a. The ratio will be




HUESTION 13

Vi

A certain sum of money was put at S.I. for 2.5 years at a certain rate of S.I. p.a. Had it
been put at 4% higher rate, it would have fetched Rs. 500 more. Find the sum of

]
_J

money.

3 Rs.4000

o, C

Bl Rs. 6000

A None




\V/

A certain sum of money was put at S.I. for 2.5 years at a certain rate of S.I. p.a. Had it
been put at 4% higher rate, it would have fetched Rs. 500 more. Find the sum of
money.

3 Rs.4000

3 Rs. 5000

Rs. 6000

A None




\V/

Nominal rate of Interest is 9.9% p.a. If interest is compounded monthly, what will

be effecti of Interest. E=| o
10.36% ¢
é R 1 :((\+r_>—\> X\o o

\ oo
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\V/

Nominal rate of Interest is 9.9% p.a. If interest is compounded monthly, what will
be effective rate of Interest.

A 1036%




\V/

C=\
Arslan invested 10,000 at 8% per annum compound quarterly, then the value of the
investment after 2 years is [given (1.02)% = 1.171659]

o Ul A
Rs. 11, 716.?9> [ 000V oy
( ' LK %‘/-/C'M

Rs. 10, 716.59 g
n Yz AXM =¥ A—_(oow(ltao))
Rs. 117.1659 = % -on =3\ 1659
LA None of the above (00K }




\V/

Arslan invested 10,000 at 8% per annum compound quarterly, then the value of the
investment after 2 years is [given (1.02)%=1.171659]

A Rs.11,716.59

B} Rs 10,716.59

Rs. 117.1659

LA None of the above



Y
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What will be the population after 3 years, when present pop-‘ﬁlation is 1,00,000 and
the population increases at 3% in year 1st year, at 4% in second year and 5% in

third year. |
a | 1,12,47sj lvoLo + Y+ U+ &
P} 115476 G 7é
1,20,576 =

ER 1. 25 600



Wi

What will be the population after 3 years, when present population is 1,00,000 and
the population increases at 3% in year 1st year, at 4% in second year and 5% in

third year.

A 112,476

A 1 25,600



e oo N

A machine worth of Rs. 4,90,740 is depreciated at 15% on its opening value each
year. When its value reduces to Rs. 2,00,000 i

A
¥ 4 years 6 months 0906 \_WO—ND (\ ‘\_g,(g)>
¥ 4years7 months N ( {;00)(\

4 years 5 months ,{%O'WﬂSH ;}9@83)
7 ' | .
A 5 years 7 months approximately ¢ 1@3 - t@zo‘\{tﬂ N




\V/

A machine worth of Rs. 4,90,740 is depreciated at 15% on its opening value each
year. When its value reduces to Rs. 2,00,000

¥ 4 years 6 months
¥ 4 years 7 months
4 years 5 months

5 years 7 months approximately



y \V/

A sum of Money doubles itself at compound interest in 10 years. In how many
years will it become eight times

1 16 5 ¥

&:(OV
) § 0 zR%P

i\O £ -30




HUESTION 24

A sum of Money doubles itself at compound interest in 10 years. In how many
years will it become eight times




\V/

The difference between compound interest and simple interest on a certain sum
for 2 years @ 10% p.a. is 100. Find the sum:

El-ST g \'*—-E-’-f-\—ve
3 Rs 10,100 o ‘(:‘Dv
) Rs 10,950 = oo = Pr@\*‘ \-9-1—\ » L2070
ﬁs. 10,000 A\ ‘°°S \Tq?\
PR Rs 9,900 K P~ log Z & 0boD




\V/

The difference between compound interest and simple interest on a certain sum
for 2 years @ 10% p.a. is 100. Find the sum:

3 Rs. 10,100

I} Rs 10,950

Rs. 10,000

A Rs.9,900



. Y

Rs. 10,000 is invested every month and in an account paying interest @ 12% per
annum compounded monthly. What is the future value of this annuity just after
making 11" payment” (Given that (1.01)'" = 1.1156) 0

S )
2 (Rs. 115600 O /,C\_'(\i\,m Fv=A(( ) 'l)

(3t '
B} Rs. 156100 vzl : (oovtv((‘”“’\)'\j
e ol - ‘
A Rs. 156,800 L Sl 30 e
Q (00K 00
Rs. 157,100
o n= ! - 15600

-



\V/

Rs. 10,000 is invested every month and in an account paying interest @ 12% per
annum compounded monthly. What is the future value of this annuity just after
making 11* payment"” (Given that (1.01)!1 =1.1156)

A Rs. 115,600

) Rs 156100

Rs. 156,800

A Rs 157,100



Al Y

How much amount is required to be invested Tevery zear?so as to accumulate
Rs. 5,00,000 at the end of 12 years if interest is comgounded annually at 10% qj

LS P
n@23381@ Fv- 500000 Sootho = B[] el ) ’[
= Czl
Rs. 24385.85
b ol R AQK—S
Rs. 26381.65 ~-10 ]
¥ =) R=Sooos
Rs. 28362.75 ¢ =10 < SRR
- [00K L \ -4 o &l Al
Y\-—,\QX,\’*\)\ . i =
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QUESTION 27 Q//

How much amount is required to be invested every year so as to accumulate
Rs. 5,00,000 at the end of 12 years if interest is compounded annually at 10%

A Rs.23381.65

) Rs 2438585

Rs. 26381.65

UA Rs. 28362.75



p \V/

Find the present value of an ordinary annuity of 8 quarterly payments of Rs. 500
each, the rate of interest being 8% p.a. compound quarterly

=% PV A((F?

B 227500 2 A=Z5 T
Y:%'/‘ (.(“"->

n 4725.00 o v - S-ODC* O‘Dl>%-—\

@ ~—,(3:m-: a >oironR

EA 3266.50 . ; 3@@3




Y/

Find the present value of an ordinary annuity of 8 quarterly payments of Rs. 500
each, the rate of interest being 8% p.a. compound quarterly

4275.00
4725.00

3662.50

3266.50



Wi

Assuming that the discount rate is 10% per annum, how much would you pay to
receive Rs. 800, growing at 8%, annually, forever?

Rs. 40000 ( - D (-0 0% 0 0L

Rs. 40500

n C =

Rs. 39500 (219 20|
(QOY\\

Ul None of these |
-9 =0 7



Wi

Assuming that the discount rate is 10% per annum, how much would you pay to
receive Rs. 800, growing at 8%, annually, forever?

A Rs.40000

) Rs 40500

Rs. 39500

EA None of these



HUESTION 3(0

Sinking fund factor is the reciprocal of:

NI

B Present value interest factor of a single cash flow

R Presentvalue interest factor of an annuity

Future value interest factor of an annuit}y

R

UQ Future value interest factor of a single cash flow.




HUESTION 3(0

Sinking fund factor is the reciprocal of:

a Present value interest factor of a single cash flow

R Presentvalue interest factor of an annuity

Future value interest factor of an annuity

EA Future value interest factor of a single cash flow.
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Find the purchase price of a Rs. 1000 bond redeemable at the paying annual

dividends at 4% if the yield rate is to be 5% effective. =/
- Sy TS —puf
Rs. 884.16 i 4 e

N\ A Yy \oco A A A o Y=
A (Rs. 984.17 . &?o Ny nes=g
3

Rs. 1084.16 — PV
W%W S5 R Py e%%\“i\ Ay =] 080
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Wi

Find the purchase price of a Rs. 1000 bond redeemable at the paying annual
dividends at 4% if the yield rate is to be 5% effective.

] Rs.884.16

) Rs.984.17

Rs. 1084.16

LA None of these

———-—_’-



\V/

Rs. 1,25,000 is borrowed at compound interest at the rate of 2% for the 1st year,
3% for the second year and 4% for the 3rd year. Find the amount to be paid after 3

years.

I3 Rs 125678 125000 ¥/ tH 14 1 = \365721
) Rs 136587
Rs.

Rs. 136578




\V/

Rs. 1,25,000 is borrowed at compound interest at the rate of 2% for the 1st year,
3% for the second year and 4% for the 3rd year. Find the amount to be paid after 3

years.

A Rs. 125678

) Rs 136587

Rs. 163578

Ul Rs. 136578



Number Series , Coding Decoding and
Odd Man Out



HUESTION 33

18,24, 21,27, 7,30, 27




HUESTION 33

18,24 ,21, 27,4, 30, 47




HUESTION 34

[f HEALTH is written as GSKZDG, then how will NORTH be written in that code?

OPSUI
o HELLTH NoRTH
£} GSQNM a T RON

15 / 7
FRPML &Tﬁ{([[ga A ;gN?M &
d JRUNZ0 ]
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HUESTION 34

If HEALTH is written as GSKZDG, then how will NORTH be written in that code?




QUESTION 35 R\”'
If GARDEN is coded as 3\25764_\an(@\TER as 92165, how can we code the wor

WARDEN in the same way?

0 G576 SEXETD

) 295764

952764

A 957264



Vi

HUESTION 34

If GARDEN is coded as 325764 and WATER as 92165, how can we code the word
WARDEN in the same way?

0 925764

P} 295764
952764

A 957264



HUESTION 36

If F=6, MAT = 34, then how much is CAR?

Fod
AT =34 | U
ot 1+ 30 bl dr=a >




HUESTION 36

If F=6, MAT = 34, then how much is CAR?
21

22

AT

28

ERE0



HUESTION 37

Find next term of the series A5A, C10C, E15E, G20Gy I 2 [
e )

AN AS

b % F~ Th




HUESTION 37

Find next term of the series AS5A, C10C, E15E, G20G -




HUESTION 38

Find next term of the letter series QPO, NML, KJI, HGF,_& P C
NS
g L® [T FE




HUESTION 38

Find next term of the letter series QPO, NML, KJI, HGF ,
EDC

HGE

CAB

GHI



HUESTION 33

Find the odd man out: 34, 105, 424, 2125, 12755.

Y x3+3 oS

[0S xw +\4 ZMaM

Ual4 X4 5 —A14dS
- car ¥l B
d1a¢ X6 KO Lk
PREX-




HUESTION 33

Find the odd man out: 34, 105, 424, 2125, 12755.




Direction Test



\V/

Rahim started from point X and walked straight 5 km East, then turned left and
walked straight 2 km. and again turned left and walked straight 7 km. In which
direction is he from the point X ?

u North-East G

o
|2
EA South-West —
" 5

South-East




\V/

Rahim started from point X and walked straight 5 km East, then turned left and
walked straight 2 km. and again turned left and walked straight 7 km. In which
direction is he from the point X ?

A North-East

n South-West
South-East

LA North-West



\V/

Praveen is facing west. He turns 45° in the clockwise direction and then again
another turns with 180° in the same direction i.e. clockwise direction, after that he
turns 270° in the anti-clockwise direction. Which direction is he facing now ?

Czu5 2 +190°=235"
A North-West AL = RT10°

——
B s ) w/&§ AC‘-‘-;UO-om‘:Ms"’
South-West
O

u South




\V/

Praveen is facing west. He turns 45° in the clockwise direction and then again
another turns with 180° in the same direction i.e. clockwise direction, after that he
turns 270° in the anti-clockwise direction. Which direction is he facing now ?

Al North-West

u West

South-West

U3 South




LUESTION 47
 QUESTION 42 p— W

If AxB EERE A is to the south of B; 9{+B means X'is to the north of B;: A % B
means A'is to the east of Bﬁ\ - I}éneans,A is to the west of B; theninP % Q +R-S, S
is in which direction with respect to Q? [ 5 -

Pr @ TR-S

A South-West

u South-East

A
North-East O : P
U3 North-West ttl: % - 3@




\V/

If A x B means A is to the south of B; A + B means A is to the north of B; A % B
means A is to the east of B; A - B means A is to the west of B; theninP% Q+R-S§, S
is in which direction with respect to Q?

South-West

South-East

North-East

ERE0

North-West



\V/

Hari in order to go to university started from his house in the east and came to a
crossing. The road to the left ends in a theatre, straight ahead is the hospital. In

which direction is the university? o

A ( North

(M\\f+ S &15‘4
e

v —
T




\V/

Hari in order to go to university started from his house in the east and came to a
crossing. The road to the left ends in a theatre, straight ahead is the hospital. In

which direction is the university?




2% ke ok \V/

Neha walked@lane west ;)f her house and then turned south covering 4 km. Finally,
she moved 3 km towards east and then again 1 km west. How far is she from her

initial position? v
4\
—— L
N
~ \V4
- y
L
= >




\V/

Neha walked 2 lane west of her house and then turned south covering 4 km. Finally,
she moved 3 km towards east and then again 1 km west. How far is she from her

initial position?




\ \WV4

P, Q, R and S are playing a game of caroane partners, 'S’ is to the right
of ‘R. If R’ is facing West, then Q' is facing which direction?

f%l\ e

<&

e

o a1




Wi

P, Q, R and S are playing a game of carom P, R and S, Q are partners, 'S’ is to the right
of ‘R". If R" is facing West, then 'Q’ is facing which direction?




\V/

Itis 3’0 clock in a watch. If the minute hand points towards the North-East then the
hour hand will point towards the

3 South

u South - West

North- West

e
d R East}




\V/

[tis 3’0 clock in a watch. If the minute hand points towards the North-East then the
hour hand will point towards the

3 South

m South - West
North- West

¥l South - East



\V/

One evening before sunset Rekha and Hema were talking to each other face to face.
If Hema's shadow was exactly to the right of Hema, which direction was Rekha

facing? N v
1. - -




UUESTION 47

Vi

One evening before sunset Rekha and Hema were talking to each other face to face.
If Hema's shadow was exactly to the right of Hema, which direction was Rekha

facing?




Seating Arrangement



Wi

Five boys A, B, C, D and E are sitting in a row. A_is to the right of B, and E is to the
left of B but to the right of C. A is to the left of D./\\/\(}ho is second from the left end ?

E 0 '

C KA O
K
— € —p—rA e D
C—E



\V/

Five boys A, B, C, D and E are sitting in a row. A is to the right of B, and E is to the
left of B but to the right of C. A is to the left of D. Who is second from the left end ?




\V/

Six girls are standing in such a way that they form a circle, facing the centre. Subbu
is to the left of Pappu Revathl is between Subbu and Nisha, Aruna 1s between

UA Keerthana



\V/

Six girls are standing in such a way that they form a circle, facing the centre. Subbu
is to the left of Pappu, Revathi is between Subbu and Nisha, Aruna is between
Pappu and Keerthna. Who is to the right of Nisha?

] Ravathi

UA Keerthana



\V/

Six persons A, B, C, D, E and F are sitting in two rows with three persons in each
row. Both rows are in front of each other. E is not at the end of the any row and D is
second left to the F, C is neighbour of E and diagonally opposite to D. If B is
neighbour F who is in front of C then whg is sitting dlagonally toF?7

o
KF“& £ (@
o A s

e fp =




\V/

Six persons A, B, C, D, E and F are sitting in two rows with three persons in each
row. Both rows are inT front of each other. E is not at the end of the any row and D
is second left to the F, C is neighbour of E and diagonally opposite to D. If B is
neighbour F who is in front of C then who is sitting diagonally to F?




\V/

Eightleaders P, Q, R, S, T, U, Vand W are sitting on a bench facing towards North.

(i) T is fourth to the left of P

(ii)  Sisfourth to the right of W

(iii) U and R are not sitting at the ends, but they are neighbours of T and Q
respectively.

(iv)  P.isnextto the right of W and but left of

Who are sitting at the extreme ends ? N ()
@ S
Tand S ;




HUESTION af

Eightleaders P, Q, R, S, T, U, Vand W are sitting on a bench facing towards North.

(i) T is fourth to the left of P

(ii)  Sisfourth to the right of W

(iii) U and R are not sitting at the ends, but they are neighbours of T and Q
respectively.

(iv) P isnextto the right of W and but left of Q.

Who are sitting at the extreme ends ?




\V/

Four ladies A, B, C and D and four gentlemen E, F, G and H are sitting in a circle
round a table facing each other.

Directions:
(1) No two ladies or two gentlemen are sitting side by side.
2)  C,whoissitting between G and E is facing D. P D

(3) FisbetweenD and A agd is facing G. ©
4) H 1s to the right of B.

Wh late nengﬁBours of B m
(é Gand H ‘_,,




\V/

Four ladies A, B, C and D and four gentlemen E, F, G and H are sitting in a circle
round a table facing each other.

Directions:

(1) No two ladies or two gentlemen are sitting side by side.

(2)  C,whoissitting between G and E is facing D.

(3) Fisbetween D and A and is facing G.

4)  Histo the right of B.

Who are immediate neighbours of B?




Wi

In a line, P is sitting 13th from left. Q is sitting 24th from the right and 3rd left from
P. How many people are sitting in the line?




QUESTION 53 R’V}V

In a line, P is sitting 13th from left. Q is sitting 24th from the right and 3rd left from
P. How many people are sitting in the line?




oW1

>
-

COMING SO
2)(2) @ &

?




Blood Relations



\V/

P and Q are brothers. R and S are sister. P's son is S's brother. How is Q related to R?

Fl—g* Rr=<™

?\i@\ Q.
Qs()\qsszi @%/K

UQ Grandfather P aon — = T




HUESTION o4

P and Q are brothers. R and S are sister. P's son is S's brother. How is Q related to R?

Uncle

Brother

Father

Grandfather



\V/

A is the father of C and D is the son of B. E is the brother of A . If C is the sister of D,

how is B is related to E? /\
3 Daugher é_ o A @Vﬁ g eyt (99 {
n Brother-in-law A 5 7" i
| | lo~
o,

Husband 5 ’c’ i3

——
agter-in-law




\V/

A is the father of C and D is the son of B. E is the brother of A. If C is the sister of D,
how is B is related to E?

3 Daugher

Brother-in-law

[
Husband
d

Sister-in-law



\V/

A and B both are children of C. If C is the mother of A, A is the son of C but B is not
the daughter of C, then how are A and B mutually related? I3

A Ais the brother of B _\//

C"
¥ Aisthe nephew of B —\
. S 1
A is the sister of B A-B

UA Ais the cousin of B




V’:,

A and B both are children of C. If C is the mother of A, A is the son of C but B is not
the daughter of C, then how are A and B mutually related?

A Ais the brother of B

¥ Aisthe nephew of B

A is the sister of B

CA Aisthe cousinof B



HUESTION o7

1) F is the brother of A.
(ii)  Gisthe daughter of A.
iii) Kisthe sister of E

(iv)  Cis the brother of G.

Who is the uncle of G?

(<’A
(._ 4

z — €.




HUESTION o7

(i) F is the brother of A.
(ii)  Gisthe daughter of A.
(iii) Kisthe sister of E

(iv) Cis the brother of G.
Who is the uncle of G?




\V/

X and Y are the children of A. A is the father of X but Y is not his son. How is Y
related to A?

n@hta VM Mg&@g i

A Son A{—
(
X

=




HUESTION a8

X and Y are the children of A. A is the father of X but Y is not his son. How is Y
related to A?

Son
Daughter

Sister

ERE 0

Brother



\V/

A husband and wife had five married sons and each of these had four ch ildren.
How many members are there in the family?

2 A




QUESTION 58 R’V}V

A husband and wife had five married sons and each of these had four children. How
many members are there in the family?




- el N\

h.: |
Pointing to the lady in the photograph , Seema said, Hder son’s fathelj is the son-in-

law of may mother.” How is Seema related to the lady?
0, $H IS e

B




Wi

Pointing to the lady in the photograph , Seema said, "Her son's father is the son-in-
law of my mother." How is Seema related to the lady?




QUESTION Bi Wf@";?
Mo~ {ody

Pointing to a man, a lady said "H-ismother@he only daughter of my mother”. How
o =

is the lady related of the man? G —
€ 0 " C

Mother
¥ Daughter )

!




QUESTION Bl Wf@";?

Pointing to a man, a lady said "His mother is the only daughter of my mother". How
is the lady related of the man?




QUESTION 62 \/\
QUESTON 52 - .. Y

When Rani saw Vinit, she recollected that “He-is the brother of mgrandfather’s =
son". How is Rani related to Vinit? @ R My* / RF T /@f ()




QUESTION B2 Wf@";?

When Rani saw Vinit, she recollected that “He is the brother of my grandfather's
son". How is Rani related to Vinit?

Aunt
Daughter

Sister

ERE 0

Niece



e 2 '

A man said to a woman, -Your mother’s husband’s sister is my aunt. How is the
s e ) ==
woman related to the man? ' .

3 Grand daughter L




QUESTION B3 R’V}V

A man said to a woman, -Your mother’s husband’s sister is my aunt. Il How is the
woman related to the man?

3 Grand daughter




HUESTION B4

Read the following instructions:

P $ Q means_P.is the brother of Q;

P # Q means P is the mother of Q;

P * Q means P is the daughter of Q

If the code of familyisA # B $ g * D, who is the father in them?

o

A= O
(

1 -

B-C




HUESTION B4

Read the following instructions:

P $ Q means P is the brother of Q;

P # Q means P is the mother of Q;

P * Q means P is the daughter of Q

If the code of family is A # B $ C* D, who is the father in them?




Y

Statistical Description of Data ~—



HUESTION B3

Which of the following statement is true

B Statistics is derived from the French word-Scaasa%s b

Mnstlcs is derived from the Italian word

Statistics is derived from the Latin word ‘Statistique’.

EA None of these



HUESTION B3

Which of the following statement is true

Statistics is derived from the French word Statistik’
Statistics is derived from the Italian word ‘Statista’
Statistics is derived from the Latin word ‘Statistique’.

None of these

ERE0



HUESTION BB

The number of observations between 150 and 200 based on the following data is:

= [ [
100 150 250

No. of Observations

Y




HUESTION BB

The number of observations between 150 and 200 based on the following data is:

el B
100 150 200 250
70 63 28 05

Y

No. of Observations

46

35

yAS

23




\V/

A suitable graph for representing the portioning of total into sub parts in statistics
1S:

A APictograph |
I} APieChart \\//

An Ogive

¥l AHistogram




QUESTION 7 R’V}V

A suitable graph for representing the portioning of total into sub parts in statistics
1S:

A APictograph
¥ APie Chart
An Ogive

¥A A Histogram



\V/

If the width of each of-ten-¢lasses in a frequency distribution is 2.5 and the loweré/}-
class boundary is 5.1, then the upper class boundary of the highest class is k"

===,

s

Syl =\
gl A5 YU Zd ’ MCB
1;{§F9‘(330' |




\V/

[f the width of each of ten classes in a frequency distribution is 2.5 and the lower
class boundary is 5.1, then the upper class boundary of the highest class is




\V/

is the entire upper part of the table which includes columns and sub-

column numbers, unit(s) measurement. /] P e
/-‘: \
§£@Ro*ﬂ
r ===
\
u Stub oo A |

i




QUESTION 70 W@";}”

is the entire upper part of the table which includes columns and sub-
column numbers, unit(s) measurement.

Sub
Box-head
Body

Caption




HUESTION 71

The graphical representation of Median is calculated :

Ogive Curve Vd

Frequency Curve

Line diagram

Histogram



HUESTION 71

The graphical representation of Median is calculated :

Ogive Curve
Frequency Curve

Line diagram

Histogram



Wi

100 students are classified into male/female and graduate/non-graduate classes.
This data classification

I Cardinal data

¥} Ordinaldata .~

Spatial Series data

¥A Temporal data



Wi

100 students are classified into male/female and graduate/non-graduate classes.
This data classification

I Cardinal data

u Ordinal data

Spatial Series data

¥A Temporal data



\V/

In study of impact of novel Coronavirus in the world, a frequency graph is plotted
for age on the x axis and fatalities on the y axis. Which frequency curve is most
expected as the output?

€A shaped curve\\/'/ %’6 / /

¥ U shaped curve

7
Bell shaped curve \ Y

Ul Mixed shaped curve



\V/

In study of impact of novel Coronavirus in the world, a frequency graph is plotted
for age on the x axis and fatalities on the y axis. Which frequency curve is most
expected as the output?

E8 ) shaped curve

¥ Ushaped curve

Bell shaped curve

UA Mixed shaped curve



MOC and MOD fﬁ/’



\V/

The rate of returns from three different shares are 100%, 200% and 300%
respectively. The average rate of return will be.

i
B 350% N

3 233.33% Mg ((904'9\00{'30\2 = OU

e 4

A 300%




\V/

The rate of returns from three different shares are 100%, 200% and 300%
respectively. The average rate of retuen will be.

350%

233.33%

200%

ERE0

300%



\V/

The sum of the squares of deviations of a set of observations has the smallest value,
when the deviations are taken from their




QUESTION 75 W@";}”

The sum of the squares of deviations of a set of observations has the smallest value,
when the deviations are taken from their




\V/

The wages of 8 workers expressed in rupees are 42, 45,49,38,56,54,55,47. Find
median wage? a

Y2, us oL —
=¥, 4 /17/ Ul_i,%H)sx/%é

Midion=) M T¥yq

]
—— R




HUESTION 76

The wages of 8 workers expressed in rupees are 42, 45,49,38,56,54,55,47. Find
median wage?




HUESTION 77
///// e

Find Q, for the following observations: 7,9,5,4,10,15,14,18,6,20

. 74 :
/'7//4/ | ,lO,(u{lﬁllg,lo

E -
O)= w(\ \*Ko*\ =215 I I———
4 S




HUESTION 77

Find Q, for the following observations: 7,9,5,4,10,15,14,18,6,20




W

A man travels from Delhi to Agra at an average speed of 30km per hour and back at
an average speed of 60 km per hour. What's the average Speed.

3 48Km/hr nM = 72 = ”z_:g’»_uom/hg
| 4+ | ©0

B 40km/ihr ?0*70

45 km/hr

€A 35km/hr



Wi

A man travels from Delhi to Agra at an average speed of 30km per hour and back at
an average speed of 60 km per hour. What's the average Speed.

48 Km/ hr
40 km/hr

45 km/hr

ERE0

35 km/hr



HUESTION 73

The mode of data is 18 and mean is 24, then median is

3 M, = A Magon + Mot
il l(aﬂﬁé sl S0

L




HUESTION 73

The mode of data is 18 and mean is 24, then median is

18

24

22

21




\V/

If Arithmetic mean between@number s 5 and Geometric mean is 4 then what
is the value of Harmonic mean?

AM,__§ GNL’/AM’HM

U | et -yt 23
Y




HUESTION 8(0

If Arithmetic mean between two numbers is 5 and Geometric mean is 4 then what
is the value of Harmonic mean?




\V/

A student marks were wrongly entered as 85 instead of 45. Due to that the average
marks for the whole class got increased by one-fourth. The no. of students in the

class is? | ¥

-)—L?-;;Zw"- y\(' o

p— — - = , =y g

A T AL ‘%ﬂq - @swg‘
:3\‘\ = 5\‘(:\_?_
W

\(\—“\{X%T\&w
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HUESTION 8l

Y’

A student marks were wrongly entered as 85 instead of 45. Due to that the average
marks for the whole class got increased by one-fourth. The no. of students in the
class is?




\V/

[f Rx and Ry denote ranges of x and y respectively where x and y are related by 4x +
5y + 12 = 0, what would be the relation between Rx and Ry?

€ R-=R u@§aﬁ%&
' R
SR, = 4R, WerL= {(2,

a None of these




\V/

[f Rx and Ry denote ranges of x and y respectively where x and y are related by 4x +
5y + 12 = 0, what would be the relation between Rx and Ry?

€ R-R

D} 4R -=5R,
5R, = 4R,
LA None of these




\V/

[f X and Y are related as 3X - 4Y = 20 and the quartile deviation of X is 12, then the
quartile deviation of Y is : 5

3)(_).%\2@ @071‘7()\
SQb = S (99?

v\




HUESTION 83

[f X and Y are related as 3X - 4Y = 20 and the quartile deviation of X is 12, then the
quartile deviation of Y is :




HUESTION 84

[f variance of x is 5, then find the variance of (2 3x) j

50 = -3 $ 0
(60 (5 50

504 - 2 40, -

L ] OIXVL:ﬂg:.L{S




HUESTION 84

[f variance of x is 5, then find the variance of (2 - 3x)




HUESTION 84

Mean and S.D. of x is 50 and 5 respectively, Find mean and S.D. of

x=-50




HUESTION 83
x—50

Mean and S.D. of x is so and 5 respectively, Find mean and S.D. of :




HUESTION 86

If mean and coefficient of variation of the marks of 10 students i
respectively. What will be the variance of them ?

1 (O\/’ 507& {(()()

- ;-—"“""__—

a none of these



\V/

If mean and coefficient of variation of the marks of 10 students is 20 and 80
respectively. What will be the variance of them ?

256

16

25

ERE0

none of these



Index Numbers



HUESTION 87

Circular Test is satisfied by:

Y

B Paasche's Index Number

e simple geometric mean of price relatives and the weighted aggregative
with fixed weights

N

Laspeyre's Index Number

ﬂ None of these



HUESTION 87

Circular Test is satisfied by:

Y

Paasche's Index Number

The simple geometric mean of price relatives and the weighted aggregative
with fixed weights

Laspeyre's Index Number

ERE B8

None of these



HUESTION 88

[f Fisher’s index = 150 and Paasche’s Index = 144, then Laspeyre’s index is

GHEOs

EoLXP

2 (éoL: [§6as
L/’ﬁ :/ )
¢ (un

Y




HUESTION 88

If Fisher’s index = 150 and Paasche’s Index = 144, then Laspeyre’s index is

147

156.25

104.17

138



HUESTION 83

Consumer price index is commonly known as

LA Chain Based index

n Ideal index

Wholesale price index

U Costof living index. 0\



HUESTION 83

Consumer price index is commonly known as

Chain Based index

Ideal index

Wholesale price index

ERE 0

Cost of living index.



\V/

The index number of prices at a place in 2008 is 355 with 2003 as base. This means
Wleisk b ek \
( ) N 2355~ o
K There has been on the average a 255% increase in prices. o

u There has been on the average a 355% increase in price.

S ——

There has been on the average a 250% increase in price.

u None of these.



\V/

The index number of prices at a place in 2008 is 355 with 2003 as base. This means

Kl There has been on the average a 255% increase in prices.

u There has been on the average a 355% increase in price.

There has been on the average a 250% increase in price.

n None of these.



HUESTION i

IszOQO — 1360, ZPHQO — 1900, ZPnQO — 1344, anQO — 1880, then the

Laspyres Index number 1s

[_"‘, i (Y\QO )< 00 = lfOIOO Xloo

71 [ %6
2 S ( 07

139.70 - (29
175 — B
d RGN



HUESTION I
If YP,Q, = 1369,@00 - @%sz 1344, Y'P, 0y = 1880, then the

Laspyres Index number 1s

Y

1

139.70

179

180



HUESTION 372

From the following data
Group A B C D = F
Gro.up Index._. 12)9 13} ‘98 1 15 ﬁ108 ‘95 R
Weight \, 6 3 4 2 1 _ 4
./ : - . b 1 Sl v A 2 6
The general Index (I) is given by: &\lm [ndin = \- L - ol

S\ g




HUESTION 32

From the following data

Group A B C D = F
Group Index 120 132 98 115 108 95
Weight 6 3 4 2 1 4

The general Index (I) is given by:

123.25

JAVAE

111.30

ERE 0

None



\V/

If the 2018 index with base 2015 is 250 and 2015 index with base 2012 is 150, the
index 2018 on base 2012 will be: "K

Bedli = —~ | @12
20l (0O W’go

9019 ;zs’o/h/_ﬁgc“%szi
| .




QUESTION 93 R’V}V

If the 2018 index with base 2015 is 250 and 2015 index with base 2012 is 150, the
index 2018 on base 2012 will be:

800

375

600

None



HUESTION 34

The purchasing power of money is

Not equal to the price index number
Reciprocal of the price index number \\/
Equal to the price index number

None of the above




HUESTION 34

The purchasing power of money is

Not equal to the price index number
Reciprocal of the price index number

Equal to the price index number

None of the above



HUESTION g3

Fisher's ideal formula for calculating index number satisfies the

@7

Until Test

Factor Reversal Test

Both (a) and (b) \/

None of these




HUESTION g3

Fisher's ideal formula for calculating index number satisfies the

@7

Until Test

Factor Reversal Test

Both (a) and (b)

None of these
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Equations



o \V/

g
The cost prices of 3 pens and 4 bags is Rs. 324 and 4 pens and 3 bags is Rs. 257,
then cost price of 1 bag is equal to

bﬂM 3 w} 237y 2% £ 16y = 1244
Lk U4r b3y = A5 llx”}:‘m
e

8:§£:7§_

5



QUESTION 98 Wf@";?

The cost prices of 3 pens and 4 bags is Rs. 324 and 4 pens and 3 bags is Rs. 257,
then cost price of 1 bag is equal to




\Vy/

The sum of two numbers is 75 and their difference is 20. Find the difference of
their squares.

|
ra 4—\3 =/ %2' — 7":.\'17(1-'27'%'2'
7‘_..} ’;&O :czngé—h/
-756a5
Xt MX*%):KHD - 400
Q_){_ﬁqg . e
)ch/é;:\)ns
i) .



HUESTION 37

The sum of two numbers is 75 and their difference is 20. Find the difference of
their squares.

1500

1600

1550

None of these




QUESTION 98 R’V}V

If the ratio of the roots of the Equation 4x* - 6x + p =0 is 1 : 2 then the value of p is:

& o pEhz) g s R

i 2 e | ALK :E
G~ dk \
LN
W+ B==(-Lipmls 4 )
- :VMK 2
SelCate ) \ . L s
Sy k:"\_‘_\:_’;QS




HUESTION 38

If the ratio of the roots of the Equation 4x? - 6x+ p = 0 is 1 : 2 then the value of p is:

a
3 2
B
d




HUESTION 33

The roots of the cubic equation x* - 7x + 6 = 0 are :




HUESTION 33

The roots of the cubic equation x* - 7x+ 6 =0 are :

1,2and 3
1,-2and 3
1, 2 and -3

1,-2 and -3




\V/

If the roots of (k - 4)x? - 2kx + (k + 5) = 0 are coincident. Then the value of k?

) i
b=Yoc = 0
Q v -
= (’2K *M(K—Vﬂ K¢S ) -
G- (T -20] <

’7%{ %{ yet+§0=0

,\C:ﬁ
___\ \)\LKZDV ¢

/

2V



HUESTION 100

If the roots of (k - 4)x% - 2kx + (k + 5) = 0 are coincident. Then the value of k?

14

A\

18

22




Wi

The sum of the two numbers is 8 and the sum of their squares is 34. Taking one
number as x form an equation in x and hence find the numbers. The numbers are

Pt e
a AL )( 2 :

ey I
Ley™ 1Y
¢ 5 -q42¢z3U2RR %S
_




\V/

The sum of the two numbers is 8 and the sum of their squares is 34. Taking one
number as x form an equation in x and hence find the numbers. The numbers are




HUESTION 102

Solve for x, y and z
X XZ &
>_ =210, = 140, ’;Z—%/MO

y—x Z_x y
. XY
\3,

BB 105,210,420 A)pShaio - [#5R2\0 2
_\(9' o

n 100; 205; 400 Cald M
oS ~M2D - |y o

95; 215; 395; o - \“
407 10"

Ul None of these }\O)(“O - \\J\O
—-—/__

NIRRT



HUESTION 102

Solve for x, y and z

Xy XZ Y&
=210, 21401 =
y—X Z—X y+ 2 %((40

PR 105;210; 420

u 100:; 205; 400

05: 215: 395:

LA None of these




Linear Inequalities



UESTION 103 _

e
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HUESTION 103

Solve for x of the inequalities 2 <

A (567
P} 3456}

(4,5, 6)
¥R (456,7)

3IX—2
< 4 wherex e N




HUESTION 104

If2x+5>3x+ x - 3 <4x -5, then x takes which of the wing value?

4 m 2n-3£ Uy -S
a AntS 73t e —?
_4 My & -
a E-17 Hr-LK Y
(573 o
i o Rk
2 '/77(’(%- ) / —j
e , 1% |
0
e el

/



HUESTION 104

[f2x +5>3x+ 2 and 2x - 3 £4x - 5, then x takes which of the following value?
a

3 ¢

2

A -2




v/

A small manufacturing firm produces two types of gadgets A and B, which are first processed in the
foundry then sent to the machine shop for finishing. The number of man-hours of labour required in
each shop for the production of each unit of A and B, and the number of man-hours the firm has
available per week are as follows:

Gadget Found Machine-Shop
A 0 A ﬁ(),Iy \ 7Y
B [ . 6 < 4’
| | 4 \6 A t
Firm’s Capacity per week 1000 600

B3 10x+6y<1000,5x+4y>600,x>0y<0 (Ot

n 10x+ 6y <1000,5x+4y<600x=0y=>0 §7H’“\? ééOO
10x + 6y > 1000, 5x + 4y <600 x<0y <0

A 10x+6y<1000,5x+4y>600,x<0y<0

Let the firm manufactures x units of A and y units of B. The constraints are: 6 | v, v,




HUESTION 103

10x+6y<1000,5x+4y>600,x=>20y<0
10x+ 6y<1000,5x+4y<600x=>0y=>0

10x+6y>1000,5x+4y<600x<0y<0

ERE 0

10x + 6y <1000, 5x + 4y > 600, x< 0y <0




HUESTION 106

Graph of the following linear inequalities:

A EDKE

BCDEFA
B




HUESTION 106

Graph of the following linear inequalities:

DCHAD

BCGB

ABCDEFA

EDKE




\Vy/

A manufacturer produces two items A and B. He has 10,000 to invest and a space to
store 100 its m.sq. A table costs him Rs.400 and a chair Rs.100. Express this in the
form of linear inequalities. U 00 e

* ¢
%y5100,4x+y5100,x20,y20 Uook  +lob < |00

) x+y<1000,2x+5y<1000,x>0,y>0 —rUn Y olem

a S -To

x+y>100,4x+y=>2100,x20,y20(c) x+y>

LA None of these Lz 0) ﬂ >/ 0

—




\V/

A manufacturer produces two items A and B. He has 10,000 to invest and a space to

store 100 its m.sq. A table costs him Rs.400 and a chair Rs. 100. Express this in the
form of linear inequalities.

Pl x+y<100,4x+y<100,x20,y>0

n x+y<1000,2x+5y<1000,x=20,y=20
x+y>100,4x+y=2100,x20,y20(c) x+y>

Ul None of these



Permutation and Combination



HUESTION 108

[f15¢, = 15, ,then T’ isequalto

e ot




HUESTION 108

If15¢, = 15¢_,, ,then'r’isequal to




Wi

In how many ways 3 prizes out of 5 can be distributed amongst 3 brothers equally

L {7 )
Sp. = Shuaz= b
\ ( / \pg Kb

— S\ LT




HUESTION 103

In how many ways 3 prizes out of 5 can be distributed amongst 3 brothers equally




Wi

A garden having 6 tall tress in a row. In how many ways 5 children stand, one in a
gap between the trees in order to pose for a photography?
